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Granted by idol worship and a stoned ox, it is an unfit slaughtering

Overview

The 7227 maintain that even though he was X °"¥ 112, nevertheless if it was 1"V or
it was a 7p017 W he is Mo, because it is a 77X WRY "N (it did not accomplish
anything; we cannot eat from this qvnw).!
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This discussion is in accordance with the one who maintains in wmw: po»o that a

person can place a prohibition on something which is not his (only in a case) -
- NN ININT NINDOT AWy Na Huya

When he did something to it, for this is actually a dispute among the 2°8in
(whether 2w PRW 127 70 07X even if wyn 72 7wWY).

nooIN asks
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And if you will say, but the X711 states there that even according to the one who

maintains 172 1°KY 127 99I8 27K, that is only if the 10X is a gentile -
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But if the "0 is a Jew, we assume that he merely intends to cause him pain (but

not that he intends to make it 70X), so in our case of 1"V it is still a 79N VAW, so
why should he be 7105 -

N1B0IN answers:
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And one can say that this is a case where the thief gave the %2 permission to

be v the animal as he wishes, and he can be VMY it even 3''¥®, so therefore -
1233 YV NINY N30 NMYYNY 19191957 DO9¥ S9YNY 9919 19V PN

It is not applicable to say that he intends to pain the owners, for the mbw

!'When we are vmw for 1"y the meat is 77X372 710K, the same applies to a P07 MW,
2 The 1"'v% vmw does not own this ox, it belongs to the 2131, so how can he make it into an 1"V when it is not his. See
"W here XnHwa 7"7.
3 As in our case where he was 1"v% vmw.
4 See there &,xn.
3 Ibid.
6 The 1"277 a1 amends this to read, (Nws Y9917 1% (instead of JNIwWs ).
7 See “Thinking it over’.
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assumes it belongs to the thief, and he cannot pain him by 1"y 7vnw since the thief does
not mind, therefore when he is 1"¥% WMWY he means it (and not just P1np *NYYY), therefore it is a
IR IPRY VN,

Summary
We are following the view that qwyn *"v 19w 11°RW 127 10 O7X. In this case the 213

gave him permission to be VMW even 1"¥? so we cannot say 1121p Y.

Thinking it over
Why does n1o010 need to say that the 213 told the m%w to be 11¥73 vmw,? and even
for 1"y, why did not M0 say that he told him directly to be 1"v% vmw?!”

8 See footnote # 6.
9 See nwn nbm.
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